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2cos    (ב)   sinx x   

      
2 2 2

2 2 2
2 1sin cos sin cos/x x x x       

      
4 4 4

1 1sin cos sin cos sinx x x
        _ i  

  

  

  המשך בעמוד הבא        
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3

4 2 4
2 2n n nx x

          ,  

0  בתחום     x    נקבל:  
23 3

4 4 2
sinx y

      

כלומר      
23

4 2
P ,

_ i .  

    (ג)  

3

4

0

2(cos sin )S x x dx



     

      
3

4

0
2(sin cos )S x x x


     

      
3 3 3

4 4 4
2 0 0 0sin cos (sin cos )S

           

      
3 2

4
1

 _ i   יחידות שטח
2 2 3 2

2 2 4
1S

      

        

      

  

        

y

x
3

4


P
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